10

Ratio to Herwig 7.2.1 default
[N

0.5

Rivet 3.1.10, = 3.4M events

7000 GeV pp Top (parton level)
| T T T T T T | T T 1T T 1T T 17 | T 17T T 1T T 717 | T
AQ (ttbar) (pTtt > 50 dy < 0)
— --3-- Herwig 7.2.1 default ]
I ¢ Sherpa 2.2.9 default ]
P
b.d
— i —
— In —
- e .
| o * _|
L g[ﬂ 4 —
5| R
HT &
B Y o ¢ N
- mE _
EEEEE r*’
pEEEs ot

:EE%EEEEE}E}E} o ! -
— oot -
B PPNy LR R X R _
n | | | | | | | Ly | | | | | | ]
:l T T T T | T T T T | T T T T | :
- ey .
rad -

o K -

K
- At 7
»

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


